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5.2 p.81
pst=3.0% y =1.2, y s=1.05, y »=1.2,
p.82 5-2 pst 3.0
5-1 pSt:30% N'ou
5-2 Ac=35cmx 35cm As=40.5cm? N’ou

N'ou=0.85 30 3502+ 345 4050=4.52x 106N 4.52 MN

N'oud = {0.85 (30/1.2) 3502+ 345/1.05 4050}/1.2 =3.28x 10N 3.28 MN

N'ou N’oud

N'oud/ N'ou 3.28 MN 4.52 MN 0.73

y ~1.2, y ~1.05, Y ,=1.2,
5-2
Mu —N'u 5-2 (p.98)




p87

Mu N'u
Web
N/mm N/mm
M-N One Point
M,N
] 1 - X

5-2

2 Web

22 Pm Ps




Web

Web
Mu=1.67kKN m Vy=9.95 N
a=22cm Pm
Pm=2Mu/a=2x 1.67 N m/0.22 15.18 N
- a
Ps=2Vy=2x 9.95 N 199 N - a

Pm  Ps
Pm 1518 N<Ps=199 N
Pmax Pm 152 N

Ps

VS.

11

p.200-201 *




etc.

etc.




